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1. CAA, 2019 & HE=EH Bq e | S 1 T8

sfegem & ded H frafafed sl w faem

FHifer:

1. 36 SIfgE & SIUR AFReRa iyt
2004 HT ¥ 6B CAA & 3idid ANTReRdT
% ford emeed gfwan &1 R 2

2. T§ HAE (MHA) A CAA & 3{qTd ANTRGRdT
MO I GEMUT H T HH F5 THR
% Ted ST f99TT Ud SO STt st
g 21

3. o W sAfam o yow = § e
(SO §9Ted) & Aqed arell e
qfafaet g fe=n e

ST A 9 fhad wem wet @2

(a) HId TH (b) ®ad T
(c) @t o= (d) i o &
. fr=afafea oAl w fomm wifsa:

1. %% R 9 Rl gR ford I a1t i
STt =a o il

2. I ufwan gerafeerd gl

3. FEAR SR &g gfafafuc st Bt faer

4. TG YfhA &1 AR H HH

ST § 9 fohed ‘Tw U2 Th YAE & U

T T 27

(a) HId TH (b) ®aa &

(c) Had = (d) |+t =R
fefafea & 9 fog <1 # & @y stwEn
GHepTAs T Bl 22

(a) (b) FTET

(c) et (d) ST

. BEHE HT G & ged | fAfafad weHl )

o wifsar:

1. &5 3 SHEET & SR & SR W S
i 2 o § eiterd feran T Bl

2. offyRTia gfaffuc & Hgfera & & fod
ae o fraifead wd Tmifera steen woF we=
1 THM Watiee g 2l

ST FoA H§ 9 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 <A (d) Td 1 A2

. R 1 9o fafauar & g o frfafaa st

R fa=r wifsd:

1. 99 1961 &t SO H§ 9RA H diel W
aret 15,54 AT TS T TE

1. Consider the following statements with reference

to the recently issued notification for the
implementation of CAA, 2019:

1. The notification states that the application
process for citizenship under the Citizenship
Act of 2004 is based on Section 6B CAA of
the Act.

2. The Ministry of Home Affairs (MHA) has
entrusted the task of processing citizenship
applications under the CA A to the Department
of Posts and Census authorities under the
Central Government.

3. The final decision on applications will be made
by empowered committees headed by the
Director (Census Operations) in each State.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

. Consider the following statements:

1. Reduction in substantial recurrent expenditure

by the Central and State Governments.

2. The electoral process should be well organized.

3. Federalism and regional representation will

be strengthened.

4. Reduction in the cost of the election process.
How many of the above are correct arguments in
favor of ‘One Nation One Election’?

(a) Only one (b) Only two
(c) Only three (d) All four

. In which of the following countries are simultaneous

elections held?
(a) France
(c) Italy

(b) Canada
(d) Germany

. Consider the following statements regarding the

structure of cantonments:

1. Cantonments are classified into 2 categories
based on area and population size.

2. To balance the official representation, there is
equal representation of elected and nominated
or ex-officio members in the board.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

. Consider the following statements with reference

to the linguistic diversity of India:
1. India was home to 15,54 different languages
as of the 1961 census.
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2. 99 2001 & 91 ¥ 10,000 ¥ off w9 AfF=
BRI dielt ATl qroed i TR SO
q g e mm

3. 9% 2011 &1 SAMUMAT & AAER, 99

R-arqgfaa s €

ST HeA W W HHA-A TE B2
(a) eel 1 3R 2 (b) Fad 2
(c) o 1 3R 3 d 1,2 33

. frefafea & @S- =] <o fafy o

&=t 1 WO 1 SR Ao S i 2

(a) STT=R-120 (b) 3TT=BI-210

(c) STI=R-343 (d) AT==-362

. freafafaa womi W faar wifs3:

1. AR e & $T7e%-350 & TIaR fohet
ft forprd & fanm & o yas =afe
I HY el T § ygd foRdl off 9o o

HEAEEA 9 1 AHR B

2. dfaum TSA I WORN STeqEEAE:  GHaEl
H Hafya a=ai &l e & mefis ') W
g W e Suered e w1 e < 2

IwfE w9 9 SE-FUA HE 82

(a) I 1 (b) HaA 2

(©) 1 22 =F (d) a1 ST 2

. Frefafaa § 4 SF-w 9xdg H9ed 9 g9

fagioferpr &Y €2

(a) GO H dieH &1 wEaad

(b) GO TF % INH e § suftefd 9 w2

(c) HEE W & R AN "l R
T

(d) HTIE | T

. MR dfaum § gude favmmfuer w1 yefa

% Ted H fAfafad ol W faur wifsa:

1. gudig faeofasr o o9 § qof & siR
3= fordt oft oo o AN @ & oS
Tl

2. 3 =t e & ot € @i uRfefaE
¥ 3% o | A € S wehdl 2l

2. Languages that are spoken by less than 10,000
persons have been excluded from the Indian
census since 2001.

3. According to the 2011 census, there are 99
non-scheduled languages.

Which of the statement(s) given above is/are

correct?
(a) 1and?2only (b) 2 only
(c) 1and3 only (d) 1,2 and 3

. Which of the following articles declares Hindi in

Devanagari script as the official language of the
Union?

(a) Article 120
(c) Article 343

(b) Article 210
(d) Article 362

. Consider the following statements:

1. As per the Indian Constitution's Article 350,
every individual is entitled to file a grievance
in any language that is used in the Union or
the State.

2. The Constitution requires States to educate
children from linguistic minority groups
in their mother tongue during the years of
primary school.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and?2

(b) 2 only
(d) Neither 1 nor 2

. Which of the following is not a parliamentary

privilege in the Indian context?
(a) Freedom of speech in Parliament

(b) Exemption from attendance in court during
Parliament session

(c¢) Exemption from arrest in civil matters during
Parliament session.

(d) Exemption from taxation

. Consider the following statements with reference

to the nature of parliamentary privileges in the
Indian Constitution:

1. Parliamentary privileges are absolute in
themselves and can not be challenged in any
court.

2. Parliamentary privileges are subject to judicial
review and can be challenged in court under
certain circumstances.

Which of the statement(s) given above is/are

.. - -
STdE weAl W W SE-H/A TE 2R correct?
(a) Faa | (b) o 2 (a) 1only (b) 2 only
(¢) 1 32 <H (d Fa 1 RTE2 (c) Both1and?2 (d) Neither 1 nor 2
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10. BTa &1 H 9Rd ShR 7 TV Sell o & § i

11.

12.

13.

a91 ! Tt WeM 1 €1 36 Hewl | Frefafe

Fol W fo=m Fifs:

1. TH HTH F 353VF T-H1eH Scasiah Fial o
e Sl IR I @ I 2

2. R H @& 39 W & Wiemm § oan
2040 @& 11,000 MW TSR0 TLAT] FHeit
I &l ST B

3. WK TN Fell & ° e 5.3 fafeed
<fer & fraw & ford fosht srufrel @ woghan
ot &R

Swde § 9 fohad e wEl €2

(a) HId TH (b) ®ad T

(c) Ot = (d) =18 o T

yarTeTen ¥ fasfad ER & wed # fAfafea o

Y SH-T HU FE TE 22

1. zge fafor sae qamfTes gy e fafy
g foran S 2

2. ot amg faguo fafy § de &1 #ea
T 9 ¥ R TH s HA F 3T 800
feift afeaam 7 T feman s 21

3. TR WEERUE WefYe Wiphfas &9 9 U
S A R T qor | ogd w9 gl 8

ST For 4 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) wad 2 3R 3 d 1,2 3R 3

forrarett g Aféfray™ whim (KPCS) & gy

T fr=fafas woA w® faur Fifsa:

1. wdiTg | SHEd, 2003 @ @] gsn SR
foranfed ERF & =R & Uk & O wH
et 9 % ®9 H faswfad gam

2. 9Rd KPCS & HEAUeh §eeli § 4 Th ¢
qem 9§ 2008 H KPCS &1 qedetal off &%
THT B

3. T Ud e Fald gaedh g (Shergdd)
H ARG Y GHOYS W wH & o
foeR © ol 3w § wra S9N yEoT
e of 2

Stde | 9 o we wet #72

(a) HIA TH (b) woA

(c) Tt @ (d) w1 ot 7T

frfafaa & 9 5 9oR & Sigd o waitaes

HTa I A1 T S 22

(a) TYHE (b) fagfra

(c) fomrse (d) de

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
ﬁ‘lﬁilq = @S TR, e wm, | fene ufienr =i,

faeefi-110000 | T Teeeht | fafaer e, wEmRS
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10. Recently the Government of India has approved
private investment in the field of nuclear energy.
In this context, consider the following statements:

1. The move aims to promote electric power
generation from non-carbon emitting sources.

2. With this expenditure, the government aims
to increase the capacity of renewable nuclear
power generation by 11,000 MW by 2040.

3. The government is in the process of
negotiating contracts with private enterprises
to invest approximately 5.3 billion dollars in
the nuclear energy industry.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

11. Which of the following statements is not correct
regarding lab-grown diamonds?

1. It is manufactured only by chemical vapor
deposition method.

2. Inthe chemical vapor deposition method, the
seed is heated to 800 degrees Celsius inside a
sealed chamber filled with carbon-rich gas.

3. Their environmental footprint is much smaller
than that of naturally occurring diamonds.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 2 only
(¢) 2and 3 only (d) 1,2and 3

12. Consider the following statements with reference
to Kimberley Process Certification Scheme
(KPCS):

1. KPCS came into effect from January 1, 2003
and has evolved as an effective mechanism to
curb trade in conflict diamonds.

2. Indiais one of the founding members of KPCS
and has also chaired the KPCS in the year
2008.

3. Gemand Jewellery Export Promotion Council
of India (GJEPC) is responsible for issuing
KP Certificates and is also the custodian of
KP Certificates obtained in the country.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

13. Which of the following types of coal has the
highest amount of carbon?

(a) Anthracite (b) Bituminous
(c) Lignite (d) Peat

47/CC, afefeT
aehe Hier, Tasmraen
wrt, e

T Ha-45 T 45-A TS
2eR-2, U9 2 TS,
TEHERT SR, ST

12, B9 TSR, T,
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14. ¥R H siFen & 1 fefa & ded § frafafea

15.

16.

17.

18.

Tl W fo=m #ifsa:

1. R 1 A FER & 39 H Yol I qe
it o fga 2

2. HIFCT ST HT 75% el STavAHarst wl
LT B

ST oAl § 9 HA-T/E T 22

(a) ®aa 1

(b) Had 2

(¢) 1 @ 2 =H

(d Fd 1 A2

T gaifaesd ared Hifa 2024 & geed o Frfafed

FAl W =R Fifee:

1. =9 fifd & 9 Yok W H T@E 23% L
fean T 21

2. ¥g Hfifd smEfad EV &1 @& gfaas 5000
T fd w2

ST wUAl § W hE-E/A wE e

(a) Had 1 (b) wad 2

(c) 1 3R 2 g (d) Td 1 A2

mﬁﬁw@u&m’sﬁﬁaﬁ{m?

e ¥ gt foe e 9 fefafea § 9

fFE 29 &1 Geited MRS TE 872

(a) G OREE

(c) e (d) Trferdra

IRe 3R g fguefa ot @ gafua Frefafaa

Fol W foeR Fifea:

1. S 390 A eEgenE & | wedn iR fawd
1 gl T W TgHfq F T R

2. 9RA & FW e # v fagm w3 wenfua
fopdl S, R e B Sl Fref § e
3|

ST For H 9 HHA-TUA TE B2

(a) Had 1 (b) ®ad 2

(c) 1 3R 2 < (d) Td 1 ST 2

FHearag g9 foar & wd # fr=fataa wemt

R fa=r wifsd:

1. o€ €9 = X A & = faenfea 21

2. I I & SW-d, = &I 9fH & @
¥ iR S & <fav-qd wid, sifeRrer %
Tferor-ufyem o feem 2

3. o 1974 | =i 3R SIYH & st T qHEN
% q8d 3@ §I9 hl YA & AR &F H
e & w9 ° g § T e

14.

15.

16.

17.

18.

Consider the following statements with reference
to the status of coal sector in India:

1. India's coal reserves are concentrated in the
eastern and central parts of the country.

2. Coal meets 75% of the country's energy
requirements.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements with reference
to the new Electric Vehicle Policy 2024:

1. The rate of customs duty has been raised to
23% under this policy.

2. This policy limits the number of EVs imported
to 5000 per year.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Recently the Prime Minister of India was awarded
the Order of the Druk Gyalpo. This is the highest
civilian honor of which of the following countries?
(a) France (b) Fiji

(c) Bhutan (d) Philippines
Consider the following statements regarding
bilateral talks between India and Bhutan:

1. Both countries have agreed to promote
cooperation and development in the
hydrocarbon sector..

2. Inordertoreduce Bhutan's energy dependence,
India will set up hydro power stations in
Bhutan

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
Consider the following statements with reference
to Katchatheevu Island dispute:

1. Japan and China are at odds over this island.

2. Tt is located northeast of Taiwan, east of the
Chinese mainland, and southwest of Okinawa,
a southeast province of Japan.

3. Under an agreement between China and Japan
in 1974, the island was recognized as a part

of Japan's jurisdiction.
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19.

20.

21.

22.

S § 9 fohad e e €72

(a) el Th (b) e

(c) |t o= (d) ®E o T

ITR EE & Hed H fr=fafad el | faar

Eaispf

1. ¥ §=1 ®9 9 YW eqdeds & S
e T

2. ¥ WM § enfueie 9 W HEETT
FeUEEIH A Tl 2

3. B & H = & Refsei wia o genq g
FHEM & Ga H SRR a9 U I
H1 HE Seol@HT Hufal & faerd SRT
T T

Sude weAl W W wE-H T 2?2

(a) Foe | 32 (b) wae 2 3R 3

(c) a1 3R 3 @ 1,2 33

T T L& IRE & Gew H frefated s

W fo=m Sifs:

. o€ 20 9= oTell U G §, e S
T IR 15 - wee €

2. WYF UK 9E & 9w fEam zEe
ferem-fomet W = &Y 2 2

3. WY T ¥9 % UH W=, S UNSC &
Hew e ¥, UaeH # AR & fo gHe
EERIK R C i

IfE FUAl W 9 SE-F/A T T 20

(a) ®aa 1 (b) Had 2

(c) eel 2 3N 3 (d 1,2 3R 3

g T e IRUE H YuR gfRaA | wafud

fr=fafaa FoAl w® faar Fifsa:

1. 99 =R H AW & KA G b o
~Q-3Afeh TEE & SEAT & R SN
T HET B

2. TR RO H G <X 1 G IR &
gt 5 T g Afed #U-9-%0 3-faer
T IO G SATIH BT B

ST For H 9 HHA-TUA TE B2

(a) ®ad 1 (b) HaA 2

(c) 1 3R 2 < (d) Td 1 ST 2

fem e 9 gefua fefafad womi = fa=ar

Hifer:

1. 39 fiwm % dgq afia-5 afafes fraea
F1 THA TAT IRA I TH] A D
o3 wh eyl suafer 21

19.

20.

21.

22.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements in the context
of the Uyghur community.

1. These are predominantly Muslim minority
Turkic ethnic groups.

2. They are not an officially recognized minority
community in China.

3. Recently, allegations have been made against
many notable companies of America and
European Union regarding forced labor in
Xinjiang province of China.

Which of the above statements are correct?

(a) 1and?2 only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3
Consider the following statements with reference
to the United Nations Security Council:

1. It is an organization with 20 members, of
which 5 are permanent and 15 non-permanent
members.

2. The general rules of the United Nations do
not apply to its deliberations.

3. Members of the United Nations, who are not
members of the UNSC, can participate in its
sessions without the right to vote.

Which of the statement(s) given above is/are not

correct?
(a) 1 only (b) 2 only
(c) 2and3 only (d) 1,2 and 3

Consider the following statements regarding the
reform process in the United Nations Security
Council:

1. Inthe first phase, the amendment will have to
be supported by a majority of more than half
of the total members of the General Assembly.

2. In the second phase, the revised Charter will
have to be ratified by at least two-thirds of
the member states, including all 5 permanent
members of the Security Council.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements regarding
Mission Divyastra:

1. The successful test of Agni-5 ballistic
missile under this mission is an important
achievement for India's nuclear capabilities.
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2. I8 TH & gemu o fafv= e o uw &

WM W %3 fG0hes oY 91 IREeq I
o e w2l

3. 39 fawm @1 qdemr sfeum 9 R g
R e T

Swde § 9 fohad e wEl €2

(a) Had TH (b) ®ad A

(c) |t = (d) =18 o T

MIRV Wraifiest & @ o frfafad & o wF-w

FoF T T 82

(a) =9 WrENfieh! 1 Scara Sga o SRR &
B 1970 ® &t TE ot

(b) & Srafient Guifad oeal w1 Ge dee
formeet 1 gurEeiicr &I Sew 2l

() MIRV &I &had qfH-eeifia wiewd o
wi=a fan <1 Hemen 2

(d) S ¥ ¥ & =

eRRET B sitel Ruax ¥ Hefyd f=fatad

FAl W =R Fifee:

1. I8 TH 500-TER Idfaed wRE-seR
TRt Rus 2

2. T8 RFEE-238 SO el & fafeor gr
IUAM & AT ° sfue foged were

23.

24.

I F B
3. 9Rd H & & THReH H 39 Ruaex @
fmfor feman S @1 R
SfE FUAl § 9 ®E-9 T 22
(a) eel 1 3R 2 (b) ee 2 3R 3
(c) eel 1 3R 3 (d 1,2 3R 3

TR AulTe & Y9 YEEH &% Ged o

frefafad ol | foar s

1. feafHa & TR & STuR W 9eRrU &l
ety & Hedfsdl dh o Gehdl 2|

2. foavioel & oUR Tfasta sTufdme w1
JoseR FaeM w9e e 2

3. TAfeRtd TR &1 qIYHER sTafire o
Y fageda amft & R-fageda @ s

25.

LT B
STE weHAl ¥ ¥ wE-H T 7?
(a) Fae | 3 2 (b) wae 2 3R 3
(c) wae | 3R 3 @ 1,2 33
641, UIW A, | 21, TET WS, | 13/15, 9IRS W,
'ﬁTI\_rﬁTfé'{Z‘ TSt R, | W@ am, | e afe i,
faeeti-110000 | T faeet | fafae e, vamwRS

(Magazine Test)

2. It enables multiple explosive warheads to be
carried to different locations or to a single
location in a single launch.

3. This mission was tested on Andaman and
Nicobar Islands.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three
23. Which of the following statements is not correct
with respect to MIRV technology?
(a) This technology was origineted by United
State of America in 1970.
(b) The technology enhances the effectiveness
of the missile by increasing the number of
possible targets.
MIRYV can be launched only from land-based

platforms.

©)

(d) None of the above.

24. Consider the following statements regarding
Prototype Fast Breeder Reactor:

1. Itis a S00-MW electric fast-breeder nuclear
reactor.

2. It produces more fissile material than is
consumed by irradiation of a substance such
as uranium-238.

3. Thisreactor is being constructed in Ernakulam,
Kerala in India.

Which of the statements given above are correct?
(a) 1and?2 only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3

25. Consider the following statements with reference
to effective management of nuclear waste:

1. Depending on the level of radioactivity the
storage period can last for a few millennia.

2. According to experts, geological disposal of
nuclear waste is not possible.

3. Reprocessing of nuclear waste separates
fissionable material from non-fissionable
material in the waste.

Which of the statements given above are correct?
(a) 1and?2only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3
T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
TER-2, W9 ok U, | oIehs uidt, faemrasm ¥ it
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26. RA & STIHUM SR fow™m =@ & §ed ¥ | 26. Consider the following statements with reference

fafafaa oAl W =R St to India's expenditure on research and development:
1. I8 99 2020-21 ¥ 9% qiqg—cqﬁ FT 2% 1. It was 2% of GDP in the year 2020-21.
R 2. There has been a continuous downward trend
2. G 3R Tt & Hey 9 % qierd in India's outlay on research and development
H = 2008 H qE § FRE FH F1 g as compared to the year 2008.
R Which of the statement(s) given above is/are
S e d @ A correct?
(@ S 1 (a) 1only
(b) e 2 (b) 2only
© 1 s 2 @ (c) Both 1 and?2
(d) Neither 1 nor 2
(@ 7 A 2 27. The Prime Minister recently laid the cornerstone
27. T & H G & 5 Wﬁ\?ﬂq H T of India's second space rocket launchport at
& W fARe Tehe A=A hT SRR @l Kulasekarapattinam, it is located in which of the
T ?, 9 Frefeafea o 9 fera o o fem 22 following states?
(a) TY U= (b) sufesm (a) Andhra Pradesh  (b) Odisha
(c) dfHEE (d) T (¢) Tamil Nadu (d) Telangana
8. Frefafead o W fER S50 28. Consider the following:
- it 1. Agricultural activities
et N 2. Industrial activities
> ; et 3. Biomass combustion
3 T How many of the above are sources of nitrogen
I | ¥ fra e W % wh 22 pollution?
(a) H9d TH (b) wad ] (a) Only one (b) Only two
(c) |t = (d) =18 o T (c) All three (d) None
29. EISA & R ¥ frefafad § 9 wH-ar s | 29 Which of the following statements about nitrogen
. is not correct?
(a) 7 el # waifs T S e A 3 (a) In living beings, it is the most abundant

element.

(b) TTE A TfEe, WA, BHH, FARIhel qe
%2 faarfit &1 Th weF 2

(b) It is a component of amino acids, proteins,
hormones, chlorophyll and many vitamins.

© a5 SO BT HTH AR fehan S 2l (c) Plants directly consume nitrogen..
(d) ST FRI TS H 2Tg2 34-“1% it 2 (d) The atmosphere contains an infinite amount
30. ORAE Gfgu™ @ s ee’ 371A ® wHafud of nitrogen.
frefafag woAl @ fo=ar SifsE: 30. Consider the following statements regarding
1. u% 31'1[,@7:2 T = favty feufy 9 Article 371A of the Indian Constitution:
e 3 1. This article deals with the special status of
Nagaland.

2. T TR F IFUN AMME WHR & I9
T TEEl w1 oeen fy ek SEe
Al W i s 8 7

2. According to this article the Government of
Nagaland has limited jurisdiction over land
and its resources.

3. & WEHA W T W & Tt T 3. It establishes local communities' ownership
fesn i Tenfaq s 2 and authority over resources.
gq?iaa 4 9 fpay w9 T8 27 How many of the above statements are correct?
(a) HIA TH (b) Faa (a) Only one (b) Only two
(c) @t = (d) g ot e (c) All three (d) None

641, WIW WA, | 21, G AT, | 13/15, AI9RE A, e FoR-45 T 45-A T 47/CC, afefres 12, 39 T, T,
buciplcel st T, | ww an, | fee e de, T2, 1 G T, | onds Wi, fammwen | ofow gt

faeeh-110000 | 7 ot | fofve wew, wavws | e wmte, wEuw i, wETs R, e waw
(Magazine Test)
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31.

32.

33.

34.

foretferfian g W fomm i
(e g=T-371 (ST B W a9 )
e W)

1. RN - 1950

2. TN - 1952

3. TUEA YS9 - 1986

4. FHARH - 2012

S o 9 forae g W gufer €2

(a) oA Th (b) et T

(c) Had o (d) Ift =R

T oo Formshe e | wefuq ffafaa wemt

T fa=m Hifsd:

1. 78 fOR i g5 & & 50 9
& TR

2. 39 fO & oER 9Rd A safusws i
% FRU T 5T ey aferi wt e
# 9fg ok e TRER w e §
Bl 21

ST For 4 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (d) Td 1 A2

Sefary, qiEdT W SFR-TE 99 (IPCC) &

Hed o frefafed wel ) o= #ifsa:

. ZH T 1992 ® fave dem o
HI TS o

2. 3% 3N 9K el § wed Seey e
HEl W A hixd fman S 2

STE oAl § 9 HA-T/A T 2R

(a) Faa 1 (b) waA 2

(¢) 1 3 2 <H (d Fa 1 RTE2

IPCC &1 B3t ehere e @ dHefua f=fafad

oAl W fo=R Fifsa:

1. 39 fuR & R a9 2050 d% 39-TERI
THRTRT 3R Zferor-ufemm den et ufern wfeq
foea &t 60% STEI aret & | T IS
Afvaes alrad yfaeafe e Scasa 9 &8
Ll

2. Terhresiict < ol ShTe JUERRTl, hia HoeR
3R LR drEififera & A § tfue o
T FHEAT B

ST el § W BA-A/E T 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) T 1 A2

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
ﬁ‘lﬁilq = @S TR, e wm, | fene ufienr =i,

faeefi-110000 | T Teeeht | fafaer e, wEmRS
(Magazine Test)

31. Consider the following pairs:
(States with Article371)  (Year of implementation)

1. Maharashtra — 1950

2. Gujarat — 1952

3. Arunachal Pradesh — 1986

4. Karnataka - 2012
How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) Only three (d) All four

32. Consider the following statements regarding The

Unjust Climate Report:

1. This report was released by the International

Monetary Fund.

2. According to this report, due to extreme heat
in India, the income of poor rural families
increases and the income of non-poor families
decreases every day.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

33. Consider the following statements with reference
to the Intergovernmental Panel on Climate Change
(IPCC):

1. It was established in 1992 by the World
Meteorological Organization and the United
Nations Environment Programme.

2. Its reports are limited to efforts taken to
mitigate climate change.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

34. Consider the following statements regarding the
Sixth Assessment Report of the [PCC:

1. According to this report, by the year 2050,
per capita carbon emissions in regions that
account for 60% of the world's population—
such as Sub-Saharan Africa, South-West
Asia, and East Asia—will be lower than the
worldwide average.

2. Developing countries will have to bear higher
costs in terms of carbon sequestration, carbon
capture and storage technologies.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2
T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
TER-2, W9 ok U, | oIehs uidt, faemrasm ¥ it
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35.

36.

37.

38.

39.

(Magazine Test)

=1 s1eF R AT (LCAP) § Gaifa ffafaa

FeAl W foEm Fifee:

1. 98 Mersd 9 Scasiq 1 ATl sl THTEM
FT IR Faq TR Feier Fenshi sl sgr

T & T famfaa ©h Wit swmEs 2l

2. 9% 99 2070 T TR T & HEd qe8d
M & T H AREH I

3. TE € 9, Al ST SFESifa A ol
IS I HH Fh Soar] TRadd 9 deH
¥ HEg |

Swde § 9 fohad e wEl €2

(a) HId TH (b) ®ad |

(c) Ot = (d) =18 o T

T &R IR H R AR yary e &

ged o frfafed wul w fa=ar #ifsa:

1. 39 RO & 3T9R 2022 & a1 | 3% 2023
o wenfedl i Hidl i wem o & e 2

2. TES TR el FaTHl oA o iy STl
F1 50% €

ST For 4 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (d) Fd 1 R AE2

HANET JaE e (TEeAE) & SR H

frefefed & o H-91 HeF g 82

(a) & IR T F T faviw wsiEh T, ;W@
e ¥ wonefl gesl W S fxa R

(b) THHT THYM TEE T & o AL AR
Uil ! Gieemse S 2l

(c) T8 Wipfdeh AU & SRH Fodel "
Herdl S HIdl B, Al oA Gehe |
&l

(d) HHT HEEIA 175 T 1 & IR qorE &
&5 W Ul SHAET " B

e T feord 2-

(a) ST HETGMT & qai 9 H

(b) TeF TRt H

(c) TN HETEER H

(d) e Afer HeTET SR siermfet HeTg
EaR

foretferfia i R ferer iR

. gEErst - el @ Hefud By

2. SMeiiheeR - Hfsstdl &1 IR

3. AT - HAl H

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

35. Consider the following statements regarding Low
Carbon Action Plan (LCAP):

1. Ttisastrategic document developed to address
the challenges of greenhouse gas emissions
and promote sustainable waste management
practices.

2. It will contribute to the goal of making Bihar
state carbon neutral by the year 2070.

3. It will help mitigate climate change by
reducing emissions that trap heat, i.e. heat

that absorbs heat.
How many of the statements given above are
correct?
(a) Only one (b) Only two
(c) All three (d) None

36. Consider the following statements with reference
to the recently released International Migration
Report:

1. According to this report, the number of deaths
of migrants has decreased in the year 2023
compared to 2022.

2. According to this, total migrants currently
constitute 50% of the global population.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 only
(c) Both 1 and?2 (d) Neither 1 nor 2

37. Which of the following statements is true about
the International Organization for Migration
(IoM)?

(a) Itisa UN specialized agency that only deals
with refugee-related matters.

(b) Its mission is to facilitate international trade
agreements between member states.

(c) It provides direct humanitarian assistance
during natural disasters, but not in migration
crises.

(d) It has a membership of 175 states and is the
leading intergovernmental organization in the
field of migration.

38. Darien Gap is located-

(a) In the eastern part of the African continent

(b) In Central America

(c) in the Pacific Ocean

(d) Between the continent of South America and
the continent of Antarctica

39. Consider the following pairs:

1. Pomology — Agriculture regarding fruits
2. Olericulture — Production of vegetables

3. Arboriculture — Cultivation of flowers

T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
TER-2, W9 ok U, | oIehs uidt, faemrasm ¥ it
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40.

41.

42.

43.

(Magazine Test)

Swfm d 9 fohad g wEl gafer ©2

(a) HId TH (b) ®ad |

(c) |t @ (d) & ot =&

aRa | 9 & i fefa @ e frefafea

HYM R fa=r wifsa:

1. 9Rd el 3R Hissal 1 qod 9g1 IcARh
3 2

2. YR ¥ ANEF w1 IRl WE
T i SRl 1 qoil | Sgd Afesh 2l

3. fafd & omel o afves SwErEr SR o
T TEeR i 1% 2

ST A 9 o wer wedt #2

(a) HIA TH (b) FaaA I

(c) |t @ (d) ®E off T

frfafed g | fo=R Fifse:
(TaT SAaTEE 9F) ()

1. sIfEeen - 3y w_w

2. TR S LSCE

3. feqor 3TRie - FARH

s § @ et g @ gife §2

(a) H9d TH (b) wad ]

(c) |t d= (d) HE o 7T

ANelt wigfatu dfen o wafua freafataa wemt

R fa=r wifsa:

. € aWE WEpfa w1 e wHen & TH
w9 B

2. TE Ul ThHA 3 dfeT wHen 9 9@ 2l

3. #iHd IHET TH hHel o Yo I o
g 2

ST el § W HA-9 T 2?2

(a) el 1 3R 2 (b) Fae 2 3R 3

(c) Waal 1 3R 3 @ 1, 2 33

TER w9 s 9 wafua ffated

Fol W foem Fife:

1. 59 foreq =t yesma ad 1844 # gE

2. 399 fafq= R &1 HINMET HaE &
START Y Iqel Gl HW o HEEH 9 S
ARG oS Sl B

3. 39 feq % HRR o9 IR gellhT b
TH & o Tha FHIET gH R STAN
w7

STE A ¥ fhad wed wedt 72
(a) HIA TH (b) HaA
(c) =t (d) g o &t

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

40.

41.

42.

43.

T Ha-45 T 45-A TS
TEX-2, 1 ek e,
Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding the
status of horticulture sector in India:

1. India is the largest producer of fruits and
vegetables.

2. The productivity of horticultural crops in India
is much higher than the productivity of food
grains.

3. Its share in the global horticulture market in
terms of exports is only 1%.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Consider the following pairs:

(Copper producing area) (State)
1. Agnigundala — Andhra Pradesh
2. Hassan — Jharkhand
3. South Arcot — Karnataka

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding
Majuli Manuscript Painting:

1. Tt is a form of religious art of Vaishnava
culture.

2. Ttisinspired by the Pal school of painting art.

3. Srimanta Sankardev is among the earliest
examples of this art.

Which of the statements given above are correct?
(a) 1and?2only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3
Consider the following statements regarding
Crochet lace craft of Narasapur:

1. This craft originated in the year 1844.

2. In this, intricate artworks are made through
thin cotton threads using crochet needles of
different sizes.

3. The artisans of this craft use a single crochet
hook to make loops and interlocking stitches.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three
47/CC, afefres

aehe Hier, Tasmraen
wrt, e

12, B9 TSR, T,
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44. TTA T H @ieT T eeTs | st frefated

45.

46.

47.

48.

(Magazine Test)

# g fored gl 82
(a) = (b) =TIFI
(c) e (d) T

TR TSE9 § Hafva f=fafed el ® faar

EAISPE

1. 39 U569 A B3 YAl 9 129 It a
TR0 3R Heq WRa W 9 TR

2. A@H W SO AEH & =gl J w3el |
S IRt & WA qh IS TR

3. W sad 99 o & G o

STfE FUAl § 9 ®E-9 TE 22

(a) e 1 3R 2 (b) e 2 3R 3

(c) wad 1 3R 3 d 1, 2 3R 3

Tisgen e & Hed # frefafad weudl W foaen

Hifer:

1. ¥E g o feord Tk -esfa 2

2. F&f QA T fos €, S et stee
1 FAF TR B C

3. I8 Uk Felizall & fodl U elieniyd Tided 2|

STE FUA § 9 ®A-9 T 22

(a) e 1 3R 2 (b) e 2 3R 3

(c) eed 1 3R 3 @ 1,2 33

foreiferfiga 7 W foreR FiE:

( §-Sefoer faraa woret )

1. W # fesrg -

2. Thal Ty AwRH -

3. A g8 Hitgd Uk -

4. R -

St A 9 fhad g ol gafer ©2

(a) HaA TH (b) HaaA I

(c) ®aa dH (d) Ift =R

T %R W Fafua frafafaa wei w fa=ar

EAISDR

. 7€ qoree o fod @ qen gHeR! It 165
fifer 99 &8 of

2. 39 TSig WRefo eAfuftad, 1972 & d8d
THTTE Gl fistd & ®q H sifta foran T 2

TR FoR W Y FA-wA T 2

(a) ®ad 1 (b) HaA 2

(¢) 1 @2 =H (d Fa 1 RTE2

(=)
HHEH
|
qfHerrg

HES

=

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

44,

45.

46.

47.

48.

The recently discovered ‘Gandaloranru’ inscription
is regarding which of the following?

(a) Chola (b) Chalukya

(c) Pandyan (d) Rashtrakuta
Consider the following statements regarding
Chalukya dynasty:

1. This dynasty ruled South and Central India
from the 6th century to the 12th century.

2. The Chalukyas of Badami, originating from
Vatapi, ruled from the sixth to the mid-eighth
century.

3. Chalukyas were only patrons of Shaivism.

Which of the above statements are correct?

(a) 1and?2 only (b) 2 and 3 only

(¢) 1and 3 only (d) 1,2and 3
Consider the following statements with reference
to Pandavula Gutta:

1. Itis a landform located in Tamil Nadu.

2. Paleolithic murals in these caves provide an
insight into prehistoric life.

3. TItis a popular destination for rock climbers.
Which of the statements given above are correct?
(a) 1and?2 only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3

Consider the following pairs:

(Geological Heritage Site) (State)

1. Erra Matti Dibbalu — Karnataka
2. Varkala Clip Section =~ — Kerala

3. Akal Wood Fossil Park — Tamil Nadu
4. Lonar Lake — Maharashtra

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) Only three (d) All four

Consider the following statements regarding
Ramgarh Crater:

1. Itis located in Rajasthan and originated 165
million years ago.

2. Ithasbeen declared as Ramgarh Conservation
Reserve under the Wildlife Protection Act,
1972.

Which of the statement(s) given above is/are
correct?

(b) 2 only

(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and?2

T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
TER-2, W9 ok U, | oIehs uidt, faemrasm ¥ it
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49.

50.

ToR-UfdeR a9 & §ed # frefafad weml |

foaR ifer:

1. 9, 9fER &9 % HoW WM wuE 3R
ST & SR G 9l

2. ToF wideri o @id T qeh sl W IMEA
e, 5% SR-UfdeR ff wer S 2

ST el W W wA-G/d T 22
(a) Had 1 (b) ®ad 2
(¢) 1 @ 2 =H (d Fa 1 RTE2

= & foagia & g o frfafad § 9 sF-w

HoF TE T ??

(a) IT U Toe@ =t Hifa e

(b) TEH ITER &l IHF & TH HE HEA
IAAFIHT &l o, 3 W HIA 7 FHoaAl HhL
feram

(c) TU® Ted TIUAH TAN Hl Al & AUHR
& § wnthae feran T

(d) STgw H 9§ *E T

49.

50.

Consider the following statements in the context
of Gurjara-Pratihara dynasty:

1. Bhoja was the greatest emperor of the
Pratihara dynasty and the real founder of the
empire.

2. The Pratiharas who ruled Kannauj for a long
time are also called Gurjara-Pratihara.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Which of the following statements is not correct
with respect to the principle of lapse?

(a) It was a Merger Policy

(b) Inaccordance with this, the company acquired
properties where the ruler lacked a legitimate
heir.

(¢) Under this, for the first time Satara was
included in the jurisdiction of the Company.

None of the above.

(d)

51. T ST 3R ST & e T IS ¥ gafyqg | S51. Consider the following statements regarding the
fafafiga sy W fa=r St war between Rani Chennamma and the British:
1. 98 35 99 1824 T Frfesh & fhR & o< 1. This war took place in Kittur, Karnataka in
T the year 1824.
2. TR == A SUSH & fows TReen 43 2. Rani Chennamma adopted guerrilla warfare
THIT R off| strategy against the British.
3. W IS 4 T S 3 oo U 1 R 3. Queen Chennamma won this war and declared
3o TR fad gu g i e wifya fwe her adopted son as the king.
SR § ¥ Fhe wed T Y, How many of the above statements are correct?
(a) e T (b) Faet & (a) Only one (b) Only two
(c) = i %) wE ot T (c) All three (d) None
sy wd § M A T gEuE g A 52. Consider the following statements with reference
‘ S SR G Ny to the provisions related to abortion in India:
) 1. In India, women were granted the legal right
l. 9Rd H w&ggd 1971 4 Elc|
o7 .W%FIT Wfﬁ to an abortion for the first time in 1971.
®q G T A HT A e . o
. ) o 2. The Medical Termination of Pregnancy (MTP)
2 W. (MTP). . Act, 2021 allows abortion between 20 to 24
2021 welreRR difgdl o9 A | 9 Sl .
) weeks of pregnancy with the approval of two
FT AL | 20 W 24 TR B> T A R doctors in cases such as rape victims.
LR F1 ikl Which of the statement(s) given above is/are
ST wedl W W wE-"/A T 222 correct?
(a) Had 1 (b) wad 2 (a) 1 only (b) 2 only
(¢) 1 2 2 =F (d Fd 1 ARTE2 (¢) Both1and?2 (d) Neither 1 nor 2
641, UIW A, | 21, TET WS, | 13/15, 9IRS W, Wie Fo-45 T 45-A T 47/CC, afefres 12, 39 T, T,
buciplcel st T, | ww an, | fee e de, T2, ¥ I WS, | oS e, foarvwen | sfaw st
e T faoeh-110000 | T foeht | fofre o, wanRS | amgE wte, wEue i, wETs R, e waw
Alagazine les
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53.

54.

55.

56.

fova wEEn Ul fr=fafea § 9 fFas gm

EEECIES i

(a) TIF T fohm FEET (JuASHT)

(b) TYF Ut onfefw wa wHMS® URER
(3IETH)

(c) fova @ wrwEd

(d) TgF T SHES F

dfga aiéd, 2017 & Hed # frAfafed wa |

foem wifsa:

1. I8 T IOl wewE B, SEh aed
9 99 qad AN % asd Ui H O 9gan
HT 2

2. T W g Afuftem iR U o s
RS & grell FrEeed o foad & o
T el

SUg sl § W wA-G/d T 22
(a) e | (b) Hae 2
(¢) 1 3R 2 <At (d) Ta 1 RTE2

I e Hiieed T shefl & H34 § Feferfea

FHeAl R faar Hifsa:

1. 39 99 Y 93T TR Higx fufor § wamn
IERESISIC]

2. agE d feFwen ® awesw Vel @
SO ol

3. 39 WHY IS e WA SAfHeRIeR
Torerere & fod s e 1 ST TR
ST e

Srfe H ¥ fha we wet 27

(a) e Th (b) et

(c) |ft d= (d) g ot TS

IR oot wEev (GSI) % Eed H

frfafea wul | fa=ar .

1. TT&! T 99 1856 § @@ & fod e
ISR H @S &g I T il

2. 8 TS S TS € del ST e
ShicTshTdl W feerd 21

ST FoA 9 BHA-TUA TE B2

(a) Had 1

(b) HadA 2

(c) 1 3R 2 <

(d) T 1 ARTE 2

53.

54.

55.

56.

World Population Report is released by which of
the following?
(a) United Nations Development Program
(UNDP)
United Nations Economic and Social Council
(ECOSOC)
(¢) World Food Program
(d)
Consider the following statements with reference
to PENCIL Portal, 2017:

1. It is an electronic platform, whose aim is to

(b)

United Nations Population Fund

help in achieving the goal of a child labor free
society.

2. It was launched for effective implementation
of the Child Labor Act and National Child

Labor Project.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements in the context
of literature and art of Chalukya period:

1. During this period, soft sandstone was used
in temple construction.

2. Chalukyas adopted the Vakataka style of
painting.

3. During this period, Kannada language was
used for classical literature and official
inscriptions.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements with reference
to the Geological Survey of India (GSI):

1. Itwas established in the year 1856 to discover
coal reserves for the railways.

2. It is a scientific agency headquartered in
Kolkata.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2only

(¢c) Both 1 and?2

(d) Neither 1 nor 2
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57.

58.

59.

60.

61.

afuy Ao & Ged o fefafad wad ™

fo=r wifsE:

1. o€ %o s (& 9 A= & s ®
fea 2

2. 19 99 ¥ 23 99 &I Y b ITGAR TH
RIEEC Gl i Bl

3. 39 ASA U 9N TG Jal i Sid 31y
TR § TN 4 ¥ 5 99 &1 HH A H
L

ST weAl W W wE-H T B?
(a) Fae 1 3R 2 (b) ee 2 3R 3
(c) ol 1 3R 3 @ 1,2 ¥R 3

s Tl i q&Rd 9 gefud Rl & wee o

freafafad ol ) foar s

1. =9 fUR i siqisa ARewifcad == are
% gr S feran S 2

2. 78 T wardt © foF st o s@y
AE U B WA § AAtHE gy g

3. I8 AR H ABHAH (Opoid) & HRUI
B ore drdl 1 §er § @R gfg g8 2l

ST § @ fohae wer wEl ©2

(a) Hael TH (b) e

(c) Tt = (d) w1 o 7T

ST TR e dIE 1 GEAed el

feerm 22

(a) JTHY (b) ¥

(©) W (d) siffezn

frefafed gl w fa=m wifs@:

(Tofte Sarstt A fues
& fod wfar)

1. =it ganet W HgH -
e ATHEH

2. OEEREE el W) -
TR T SAfTE

3. AR gnfed o0y & -
foreg, W g SAfEE

Swfw | 9 foha g el Ao ©2

(a) HIA TH (b) FaaA I

(c) |t = (d) i ot T

THEFAFR-2024 & G ¥ FAfafad womi w

fo=m =wifs:

1. 38 %A ° DEX-fewd gAidy™
HATHESTH g SIS Teh Taifieh! wed
e B

(=)
1961
1988

2000

57. Consider the following statements with reference

58.

59.

60.

61.

to Agneepath Scheme:

1. This is only for personnel below officer rank.

2. Candidates between 19 years to 23 years of
age are eligible to apply under this scheme.

3. The scheme is expected to reduce the average
age profile of the Indian Armed Forces by
about 4 to 5 years.

Which of the statements given above are correct?
(a) 1and?2 only (b) 2 and 3 only

(c) 1and3 only (d) 1,2and 3
Consider the following statements with reference
to the report related to drug trafficking:

1. This report is issued by the International
Narcotics Control Board.

2. This report shows that there has been a huge
uptick in illegal opium poppy cultivation in
Afghanistan.

3. There has been a steady increase in the number
of deaths due to opioids in North America.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Where is the International Narcotics Control Board

headquartered?
(a) USA (b) Spain
(c) France (d) Austria

Consider the following pairs:

(Treaties to combat drug abuse) (Year)
1. United Nations Convention — 1961
on Narcotic Drugs
2. United Nations Convention — 1988
on Psychotropic Substances
3. United Nations - 2000

Convention against
Transnational Organized
Crime

How many of the above pairs

matched?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements with reference

to DefConnect-2024:

1. The event includes a technology showcase

are correctly

organized by iDEX-Defence Innovation
Organisation.
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62.

63.

64.

65.

2. TG Aqd SAafer qamR uifeafast @3 |
afgenl STl & JFRE 1 WA A ?g
Ty T uRE Smifsa fean w2

3. 3T ESH YR & SN T Ay HAer
& g fwan

ST § @ fohad weH Tl ©2
(a) HId TH (b) ®ad ]
(c) |t (d) ®FE «ff &

ADITI e gy ¥ fr=fafed wemi w fomr

i

1. TE FSMl % d8d Wee W@ greifiehl |
AT TEYH, fohrd iR TR g &
e 25 S TUT q T STRM HETIdl W
FE B UH B

2. I AiSMT Tl HACE % &l SaaeA faam
(DDP) &% &7 Scptedl & foid Fa=R @
% FFqid o Bl

ST el W W wA-G/H T 22
(a) Had 1 (b) ®ad 2
(¢) 1 22 =H (d Fa 1 RTE2

IAfI-2024 ST & Gey § Frefafed swer

foram wifsa:

1. TUHT IR R0 UG F & § e T
faept@ SR USTIR 1 GoH T 2

2. Ig A sty &t fafy | 8 ad &t
Hiderg AR & WY 2028 Teh AT &l

3. 39 AE &t gt s Sleifies gl i
TSl BH & 4 99 &% iR STYAT SR AT
e & R S

ST § @ fohad weH Tl ©?
(a) HId TH (b) ®ad T
(c) @l = (d) FE ot &

frefofed § 9 fg 9% & @9 9Rd TR A

fheer f¥1en @ik Tayeds = seEn 3 & fod

TH TR gEAeR T 22

(a) fawa =

(b) T et S

(c) e

(d) Tl fawm %

ey 9q o 9ed ¥ Frefafad we | faear

EAISPR

. I 9Rd 1 Gad el shecl-HMd gl 2

2. 30 ORI % 9YE 2 W U IS 51
% T e & ®9 § o€ G 3 9o
faum & NH fefasm g s@mn @ em

62.

63.

64.

65.

2. Under this, a special felicitation ceremony has
been organized to recognize the contribution of
women entrepreneurs in the space innovation
ecosystem.

3. It was organized by the Ministry of Industry
and Commerce of India.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements in the context
of ADITI Scheme:

1. Under this scheme, startups are eligible to
receive grant assistance up to Rs 25 crore for
their research, development and innovation
efforts in defense technology.

2. The scheme comes under the Innovation
Framework for Defense Excellence of the
Department of Defense Production (DDP) of
the Ministry of Defence.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements in the context
of UNNATI-2024 scheme:

1. Its objective is to develop industries and create
employment in the South Indian regions.

2. The scheme will be effective till 2028 with
committed liabilities of 8 years from the date
of notification.

3. Alleligible industrial units of this scheme will
have to start their production or operations
within 4 years of being registered.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

With which of the following banks has the
Government of India signed an agreement to
promote Fintech education and innovation?

(a) World Bank

(b) European Central Bank

(¢) NABARD

(d) Asian Development Bank

Consider the following statements with reference
to Sudarshan Bridge:

1. It is the longest cable-stayed bridge in India.

2. It was built by the NH Division of Gujarat
Roads and Buildings Department as a part
of National Highway 51 on the sea coast of
Saurashtra.
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66.

67.

68.

69.

IwfE w9 9 SE-FUA TE 22

(a) I 1 (b) Had 2

(©) 1 22 =H (d) a1 SRAE 2

UFA St s @ ged § frefafad

HY R fa=r wifsa:

. 7€ SwEs AR feume W % = fomrfed
i 7

2. 99 1925 H IW@E H e & W 110
e SeAfaga i@ & foad wear

T el

3. 39 ANl G WA gd 9RG & g 3R
feoeht o1 et sTewFRarst 1 gfd g
ge o

SfE FUAl W 9S-I/ e T 20

(a) e 1 3R 2 (b) e 2 3R 3

(c) ed 3 (d 1,2 3R 3

T @ O fova & e sw-fie 1 wEgeH

e H1 IFeRA ffafed § ¥ wel e mn

(a) e (b) IR

(c) BTG (d) TsTE

qRa | @ dol +) feafa & el o frefatea

FAl W =R Fifee:

1. YRA O STEvAHRA & UH del hl T
96% G Ll 2l

2. 9Rd Ay T W GE ddl B S el
F1 SUHER iR He9 9 S < B

3. 1 B H STeUTad Ue¥ o9 § YRG 1 9gall
Thigd Siaa I\ FEfET gfe &1 9fi=mem
IE g 2

ST § @ fohae wer wEl ©2

(a) HIA TH (b) FaaA I

(c) |t @ (d) ®E off T

et ° gafya fefafad ol w® faar s

. 98 Th @ Tl = AR sHitasw
S B

2. THH g A H feerd R

3. B € W Wied W W & 3241 W5H
EERICIS

STdE § @ fohae wer wEl ©2

(a) oA TH

(b) wad ]

(c) |t 94

(d) ®iE ot T

66.

67.

68.

69.

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Consider the following statements with reference
to Shanan Hydroelectric Project:

1. Thisis adisputed project between Uttarakhand
and Himachal Pradesh.

2. In the year 1925, Uttarakhand was given a
lease for a 110 MW hydroelectric project on
the Uhl river.

3. This scheme ensured fulfillment of the
energy needs of Punjab and Delhi of pre-
independence India.

Which of the statement(s) given above is/are not

correct?
(a) 1and?2 only (b) 2 and 3 only
(c) 3only (d) 1,2and 3

Where among the following was the world's first
off-grid green hydrogen plant inaugurated
recently?

(a) Haryana (b) Jharkhand

(c) Chhattisgarh (d) Rajasthan
Consider the following statements with reference
to the status of edible oils in India:

1. India imports around 96% of its palm oil
requirement.

2. India is the second largest consumer and
largest importer of edible oils globally.

3. Recently, the state of Arunachal Pradesh is
now home to India's first integrated oil palm
processing facility.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding
NATO:

1. It is a trans-Atlantic military and political
organization.

2. Its headquarters is located in New York.

3. Recently Sweden has become the 32nd
member of this organization.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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70.

71.

72.

73.

74.

75.

frefafad § 9 %A wiftafas gerzsaEs &

TS 3R ST o & &9 § H=al e

el 39 7?2

(a) Treie (b) &

(c) dfesrm (d) STa=

YR TEIR WREN & wes ¥ frefaten

wHeAl W fa=m wifsa:

1. 78 9Rd 3R e & o eawtfes faga
R a2l

2. Ig uiEe el 7 W fawfaa ot s

ST weAl § 9 HA-A/A T 2R

(a) ®ad 1 (b) Had 2

(c) 1 &R 2 g (d Ta 1 RTE2

=g Hafud 8-

(a) TS % uiEHl § T SHeT Jeff & U
e 9

(b) TEHMR & Tl 5 § AAfush qamd § WA

et el 9@

(c) =i BIel I U & ared o Tel °

(d) WRId HETEFR H @ISt T8 e Ul R ged
€t yara fafa @

BHEY T % ar ¥ frefafad § 9 sE-d

FHUT T 2?2

(a) TE WA 1 Yeal Uiew 3o THE H el
Tae 2

(b) T WicE TH& W™ & g fasfaa
o T R

(c) & famm o dreifien fawm- dwifie
I a TR 5 HeEdl W T

(d) Sug wedt

FARM & Gy A fmafafea sl m faur

wifer:

1. oe IRR 1 ¥EtE i Rret & Sfea
e F FAFY Fel Sl B

2. T oSS ¥ M & THE H GEEH H
TR Ll B

ST HeA W W HA-FA TE B2
(a) o 1 (b) Fa 2
(c) 1 3R 2 < (d) T 1 A2

ARA H dgst 1 feurfa & wewd H frAfarad wemt

R foer #ifsa:

1. YR ¥ dg3ff *l 9RAE gsia (TRET0n)
sfufd, 1972 ®1 SIHE-4 % qed SXed
fopan T

70.

71.

72.

73.

74.

75.

Which of the following is the first country to

recognize Ecocide as a national and international

crime?
(a) Finland (b) Norway
(c) Belgium (d) Japan

Consider the following statements with reference
to Pancheshwar Multipurpose Project:
1. It is a long-term power partnership project
between India and Bhutan.
2. This project will be developed on the Dikrong
River.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(c) Both 1 and 2

Blanets is related to-

(b) 2 only
(d) Neither 1 nor 2

(a) A group of trees found in the Amazon
rainforests
(b)

An organism living under extreme pressure

in the deep waters of the ocean

(c) Three planets orbiting the black hole

(d) The largest deep water coral reef discovered

in the Pacific Ocean

Which of the following statements is correct about

Homosep Atom?

(a) This s India's first septic tank cleaning robot.

(b) It has been developed by a startup named

Solinas.

(c) Itis supported by the Department of Science
and Technology- Technology Business
Incubator.

(d) All of the above

Consider the following statements with reference

to Connectome:

1. The complex network of arteries and veins of
the human body is called connectome.

2. Ithelps in understanding the effects of diseases
like Alzheimer's.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Consider the following statements with reference

to the status of leopards in India:

1. Leopards in India are protected under

Schedule-4 of the Indian Wildlife (Protection)

Act, 1972.
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76.

T7.

78.

2. TR, o SR Sty uRedd Haerd &
R ad 2022 H S RO & ER 9Rd o
dgell =T HA TEA 13874 T

SR oA § W AR T A

(a) ®aa 1 (b) Had 2

(¢) 1 @2 =H (d Fa 1 RTE2
TR eI B-

(a) TS 1 T SR

(b) WM &7 H9E ST 1 TH T

(c) AT G G T Tk A e

(d) foct i 7wl wfime 1 Tk FE g

Hed Fased & Hed ¥ frefafed wedi @

foar wifs:

1. T fmfo @@ e €, 5@ fom g
fafere areX S a1l He-wE STeeeRHes
el ¥ o 2l

2. IFHEAE IS SeAERE WY B B

IwfE w9 9 SE-FUA HE 282
(a) e 1 (b) Heret 2
(¢) 1 @2 =F (d) Td 1 ST 2

Hug-gis Ao ¥ Gefud frefafed wodl w

faar wifs:

1. TH-TS AN S A& G & qad dfad
M & 10 @ AT I O HEFA YSH
HT 2

2. TH HHiiSeh = SR Al e e
Sue faam g sEifed feran s 21

76.

71.

78.

2. According to the report released by the
Ministry of Environment, Forest and Climate
Change in the year 2022, the total number of
leopards in India is 13874.

Which of the statement(s) given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither I nor 2
Parhyale Odian is-

(a) A festival of Nagaland

(b) A dance of Meitei tribe of Manipur

(c) A latest element discovered by scientists

(d) A new species of marine amphid in Chilka
Lake

Consider the following statements with reference

to Cavum Clouds:

1. They are formed when aircraft pass through
mid-level altocumulus clouds containing
supercooled liquid water drops.

2. Altocumulus clouds are high altitude clouds.
Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(¢c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements related to PM-
SURAJ Scheme:

1. PM-SURAIJ Yojana aims to provide loan
assistance to 10 lakh entrepreneurs from the
most deprived section of the society.

2. It is implemented by the Ministry of
Social Justice and Empowerment and its

departments.
ERREa| FA § T BHE-TVE TE 2/e? Which of the statement(s) above is/are correct?
(a) Fa 1 (@) 1only
(b) e 2 (b) 2 only
. Both 1 and 2
o oo Q smret:
either 1 nor
d) @1 A2
@ 79. Consider the following pairs:
79. Frafafaa g w four +ifse: (GI Tag) (Respective State)
(GI 2m) (wafEa =) 1. Banglar Muslin — Odisha
1. 9FAR ToTHael - afifesn 2. Kutch Rogan Craft — Gujarat
2. Fe3 W ¥eg ~ TR 3. Tarkasi in the form — Tamil Nadu
3. wedH ®U AHE - AHeg of Katka
. . How many of the pairs above are correctly
gq'{iaﬁ ﬁﬁﬁ gﬁﬁﬂ ?
iR T W e matched?
(a) %A TH (b) Feet (a) Only one (b) Only two
(c) el (d) =i ot T (c) All three (d) None
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80.

81.

82.

83.

(Magazine Test)

I-511 g & ded H ffafad wudl w fa=ar

EAISRR

. T qg & TH TH ®Y FH i w4 L,
St fegen Tt e 2

2. TOW WEN eHdl, onfefe SeRewEd @R ww
o St oI R ST S 2

3. 7% wifa iRk @od & dte a1 dmei @l
el Y <l 2l

STde § @ fohae wer wEl ©2

(a) HId TH (b) ®ad T

(c) |t @ (d) ®E off T

INS ey & §ed ® frfafad el | =R

Hife:

1. T & 9 34 Awg gioaaE & e g
W TH IAG AGAE o9 H ®Y H ey
fopa T 2

2. IE WHIfdeh €9 ¥ FEaqul T HaR Al
Ft PR 0 R 39 A § A w5
Iuferfd & ggg HEM

ST FoA H 9 HHA-TUA TE B2

(a) Fad 1 (b) waA 2

(c) 1 3R 2 g (d) Td 1 A2

fefiea feria wewid o =y & g3 o

frAfafea wo | faar wifa:

1. 30 oW w6 dEEl i 9 fae w ol
YR e T 2

2. & WA g fAfHA 36 wiewiH % g e
TR TSI o |1 G | foRa s

ST Fo H § HA-TUA TE B2

(a) Fad 1

(b) Fad 2

(¢) 1 3R 2 <H

(d) T 1 A2

afderel HIHT ARl w@iewe $iu 9 Hefud

frfafea wul | faar wifsa:

1. 399 @Sl Wl | A1 WA= A1 SR
feen St fafafig afitfeafe § waet s
e

2. afdswa wiffn gft STEm g & =HaH
w2l

3. afdwa wifHT Sorarg #t 3fte ¥ wueiR &9t
o ®Ed STH H Werw g

Srde | 9 o we wet #72

(a) HIA TH (b) wad ]y

(c) |t d= (d) w1 o 7T
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80. Consider the following statements with reference
to Gray Zone Warfare:

1. Tt refers to a form of warfare that involves
actions that are not as violent as conventional
warfare.

2. Inthis, strategies like cyber attacks, economic
coercion and proxy conflict are adopted.

3. It blurs the boundaries between peace and
conflict.

How many of the above statements are correct?

(a) Only one (b) Only two
(c) All three (d) None

81. Consider the following statements with reference
to INS Jatayu:

1. Recently it has been established as an
advanced naval base on Minicoy island of
Lakshadweep archipelago.

2. It will monitor strategically important
maritime communication lines and strengthen
India's maritime presence in the region.

Which of the statement(s) given above is/are

correct?
(a) 1 only (b) 2 only
(¢c) Both 1 and?2 (d) Neither 1 nor 2

82. Consider the following statements with reference
to Chakshu and the Digital Intelligence Platform
(DIP):

1. It has been started to deal with spam and
fraudulent calls.

2. Only government entities will have access
to the information exchanged through this
platform developed by the Home Ministry.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

83. Consider the following statements related to
vertical farming and controlled environment
agriculture:

1. It involves growing crops in vertical
layers or under regulated conditions such as
greenhouses or hydroponic systems.

2. Vertical farming minimizes land use efficiency.

3. Vertical farming is helpful in growing crops
in areas with poor climate conditions.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

47/CC, afefeT
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84.

85.

86.

87.

(Magazine Test)

St $fu 9 Hafua fefafag wemi ® fa=m

Hifer:

1. 9Ra @ o 2001 ® & fohd U U St
S HEHEA 4 9§ Sk i A B
gt fawm™ &1 g @il

2. 9N ° wad At Sfaeh HfY weies 3R
Y w9 | I Wt 2l

3. 9RG i fava o wew sifuss Sfaew fam
B 1 TE WIS B

TR Y Fod wE B

(a) heed TH (b) e T

(c) Ot = (d) w1+ 7T

Te-w] & §ed ¥ frefafad wadl W faEw

i

1. o€ T Hehweh arEtel SE @

2. 99 2021 & W% ¥ THRT TIUULE THSTA]
FAE 2.3.4.45 THE VA 3 R H Tl B

3. T € | Uil & memm ° g 3feror ot
Y g9 fehfch &9 ° TR T SR TEE
o7 WA W1 A B @R

STE § @ fohae weR wEl ©2

(a) HIdA TH OREEGR

(c) |t @ (d) ®E off T

frafafed & 9 ®F-91 9RG #1 TR 99

el B2

(a) oTeqEl A

(b) e T Hfery aEes wEE A e

(c) HRUTHeRIZE Hict

(d) g

fova SR W18 & Wed A geE §

Hafua frefafad ol | foer sifsa:

1. 3HH AESH 9RA & U@ H fHa
T

2. 39 W43 W HENE iR fauR-we Wi
fova =R e ® WH % w9 H wifid
e T

3. 39 % | frwid o ggn ufewan &l &% w
w1 fofa femn o 21

ST el ¥ 9 wA-E/A e T 22

(a) Had 1

(b) a2 3R 3

(c) waa 1 3R 3

d 1,2 3R 3

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

84. Consider the following statements regarding
organic agriculture:

1. The National Organic Production Program
launched in India in the year 2001 laid the
foundation for the systematic development of
the organic agriculture sector in the country.

2. Itisin Karnataka and Andhra Pradesh where
organic farming is practiced most in India.

3. India has the distinction of having the largest
number of organic farmers in the world.

How many of the above statements are correct?

(a) Only one (b) Only two
(c) All three (d) None

85. Consider the following statements with reference
to Bird Flu:

1. Itis an infectious viral disease.
2. Since 2021, its HPAI H5N1 clade 2.3.4.4b
strain is dominating the world.

3. Recently, It ventured from South America to
the sub-Antarctic region via birds, which is
why king penguins are dying from it.

How many of the above statements are correct?

(a) Only one (b) Only two
(c) All three (d) None

86. Which of the following is the largest wetland of
India?

(a) Ashtamudi
(b) Point of Calimur Wildlife Bird Sanctuary
(c) Sasthamkotta
(d) Sundarban

87. Consider the following statements regarding the
Thirteenth Ministerial Conference of the World
Trade Organisation:

1. It was held in Ahmedabad, India.

2. Atthis conference, Comoros and Timor-Leste
were admitted as members of the World Trade
Organization.

3. The decision to put an end to the Reform
by Doing process was made during this
conference.

Which of the statement(s) given above is/are not
correct?

(a) 1 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and3
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88.

89.

90.

IRA § -5l Hehe H1 ganm feafq & dxdf o

frAfafea wol | faer wifa:

1. foRa &1 17% TEE & aeENg 9% & 9"
fava & "3 Sia WaIeAl #1 had 4% few
TR

2. 9RA 1 85% W Afueh UFSel A A
AR qrersl W e R

3. ifd STEM & TR I 2030 Tk I I
S /I, Iqeed SAYfd | SR B ST

Swde § 9 fohad e wel €2

(a) e Th (b) e

(c) Ot = (d) w1+ T

I g AR §9 (EFTA) & 63 #

frfafea wol ® faar wifa:

l. T8 ¥R 9 @i eTegels, famdw,
IR facsRele qon fava & A& =i
qATERI & o9 & o qod =R U anifefs
THIHO H Fg@l o & fod wenf|
HR-THR G B

2. EFTA & @1 ¥ 2022-23 H 9RA 1 AR
=1 &t feafa o em

ST FoA H 9 HHA-TUA TE B2

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d) T 1 A2

frAfafea wol | faar wifa:

HIF-1: o 1947 § & Toge B Hifd drd

1 fagwr ifq &1 Tk Hewyel oM W7 fRg

JEgE ®R I F FIURE g9 2008 H T

o a7 2B

HI-11: TSI UM o G Gerdl HT IR

gfteshio e, TR-uREfie iR S aRtom g

FH W Bd @2

Swfm wUAl & 9N °, frefatad § 9 sE-w

T T T2

(a) -1 3R HeF-11 I Tel € a1 weF-11,
FHUA-1 &1 T e 2l

(b) -1 AR HA-11 <A & & qe HeH-11,
HUA-1 HI & AR T 2

(c) HUA-1 Tl & R HUA-11 Tord 2l

(d) HEE-1 Tord & AR weA-11 Wl 2

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
ﬁ‘lﬁilq = @S TR, e wm, | fene ufienr =i,

faeefi-110000 | T Teeeht | fafaer e, wEmRS
(Magazine Test)

88. Consider the following statements in the context
of the current situation of ground water crisis in
India:

1. Despite having 17% of the world's population,
India has only 4% of the world's fresh water
resources.

2. More than 85% of India's drinking water
supply depends on rivers and ponds.

3. According to NITI Aayog, by the year 2030
the country's water demand will double the
available supply.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

89. Consider the following statements with reference
to the European Free Trade Association (EFTA):
1. It is an intergovernmental organization
established to promote free trade and
economic integration for the benefit of four
member countries — Iceland, Liechtenstein,
Norway and Switzerland and their trading
partners around the world.
2. In 2022-2023, India's trade with the EFTA
was deficit.

Which of the statement(s) given above is/are

correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

90. Consider the following statements:

Statement-I: Neighborhood First Policy has been

an important part of India's foreign policy since

1947 but the concept of Neighborhood First Policy

came into existence in the year 2008.

Statement-II: India's approach to engagement

with neighboring countries has been consultative,

non-reciprocal and focused on achieving concrete
results.

Regarding the above statements, which one of the

following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation of
Statement-1I.

(b) Both Statement-I and Statement-II are correct
and Statement-II is not the correct explanation
of Statement-I.

(c) Statement-I is correct and Statement-II is
incorrect.

(d) Statement-I is incorrect and Statement-II is

correct.
T Ha-45 T 45-A TS 47/CC, afefres 12, B9 TSR, T,
TER-2, W9 ok U, | oIehs uidt, faemrasm ¥ it

Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



91.

92.

93.

94.

GST RwE & &R # Frefefad § 9§ &H-91 weH

TEt T 72

(a) 9RA & Tgufd ¥ THRA & @] a9 2016
o 3T TeA foman T

(b) IT X I TH ihareti | UsCATd THETA
gifyea & W S 21

(c) 3 3TT=% 279A (1) & T&d Th Haetieh
e & &9 § wefyd feman e )

(d) 39 118 o dfaym gy fadas & &
Tfad feran T 21

#59 o fefSiea qz1 (CBDC) & &g o

freafafad ol ) faar s

1. CBDC foh=imidt & @og-we frue quuei
% foshed & w9 § fafe= 9 & ®ga ool
1 @ w1 wyy fefsea g8 2l

2. SRMME A CBDC di=a & dren fava
1 UEdl 39 2l

3. CBDC ¥ #fifdk 7 weie w1 ufiamer
T H T S

Sude H 9§ o e wet #72

(a) HId TH (b) wad ]

(c) |t @ (d) & o =&

frrferfn gt W far Ff:

(9Ra o Ttepa ot (=)

HEFRT FHRAT)

1. #Rea - BN
2. ®Uig - TN

3. o - S
S o 9 foha g ot gufe €2
(a) HId TH (b) wad ]
(c) |t @4 (d) & o 7T

T foran fifa (NEP) 2020 € Hafua ffafaa

FeAl W fo=R Fifee:

. fi-Tpa ¥ weafgs @) dw fuan @
iyl

2. BE ® HAFHS AN ISR WraATeTR
ferenTa W Mefa weh ¢ Srerfores e urgzEEt
HEEAN

3. BE & TG R HH B & fd A Th
TS 1 F&E|

STE FUAl § 9 ®H-9 T 2?2

(a) e 1 3R 2 (b) et 2 ¥R 3

(c) eel 1 3R 3 @ 1,2 33

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

(Magazine Test)

91. Which of the following statements is not correct
regarding the GST Council?
(a) It was formed in the year 2016 after the
approval from the President of India.
(b) It focuses on ensuring nationwide uniformity
in tax rates and procedures.
(c) Ithasbeen established as a constitutional body
under Article 279A (1).
(d) It has been constituted under the 118th
Constitutional Amendment Bill.
92. Consider the following statements with reference
to Central Bank Digital Currency (CBDC):

1. CBDC is a sovereign digital currency of
central banks of various countries as an
alternative to cryptocurrencies as well as fiat
currencies.

2. Bahamas is the first country in the world to
launch its own CBDC.

3. CBDC will reduce the operating costs of
physical cash management.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
93. Consider the following pairs:
(Approved Semiconductor (State)
Units in India)

1. Morigaon — Mabharashtra

2. Sanand — Gujarat

3. Dholera — Rajasthan

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

94. Consider the following statements regarding
National Education Policy (NEP) 2020:

1. Universalization of education from preschool
to secondary level.

2. Anew pedagogical and curricular framework
based on the cognitive and social-emotional
development of students.

3. Open book exam to reduce the stress of
students.

Which of the statements given above are correct?
(a) 1and?2only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3

47/CC, afefres

aehe Hier, Tasmraen
wrt, e
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95. AMehar Hened Sfufaa|, 2019 & Hed

fr=afafaa sorl w® faar Sifsa:
1. 8 WfreH, STHmrae R iRy 9 6
TR-ZEdE TR-GRee™ TaEE i o % SR

T R 1 AR GH L 2

2. YRAE ARl ¥ 9 BF & ol smasw
I T A W, ¥H, IRA | Yoiw & fafy
TS AR arorst § W foRdl uw o qerd A

THIOT A1 B
ST el W W wA-G/H T 22
(a) ®aa 1
(b) Had 2
(¢) 1 @ 2 =H
(d Fd 1 A2
96. fr=fafea gmi W fo=m =ifs@:
(IUEIR w o (feafa)
et ¥ W@ Afvaew
et )
1. = oA - fom
2. TSR g9 - TifE
3. 2y aat - (Eal
Swdm # 9 fora g el Ao €2
(a) HaA TH (b) Haa qA
(c) |t (d) ®FE «ff T
97. W g ek, A=A To Wikepfash IS

TRE-weTa ford queeR fefafed o 9 fod

weM fepan T 22

(a) TEEN TE RIH

(b) e Y ©IH

(c) 3 e VYA

(d) A W@ ®IA

FEh! & Hed H fAfafad werl W faar wifsa:

. I€ a9 3R wfess & o9 & fod e &
Higfas formd & e & fod f=i &=
I WIS 1 Freafed L 2l

2. IR ki YRR fosiar afEsmst &
ITTE0N 1 TN ek amar Frmfor fafafei
&1 o =T @ 2

ITE wodl § 9 HA-A/A T 22

(a) I 1

(b) FadA 2

(c) 1 &R 2 g

(d) Td 1 A2

98.

641, WIW WA, | 21, G AT, | 13/15, AI9RE A,
LOc LRt e o, | wie A, | fee whe s,
faeefi-110000 | T Teeeht | fafaer e, wEmRS

(Magazine Test)

95. Consider the following statements with reference
to the Citizenship Amendment Act, 2019:

1. It grants Indian citizenship on the basis of
religion to 6 undocumented non-Muslim
communities from Pakistan, Afghanistan and
Bangladesh.

2. To be eligible for Indian citizenship, the
applicant will have to provide proof of his/
her country of origin, religion, date of entry
into India and proficiency in one of the Indian
languages.

Which of the statement(s) given above is/are
correct?
(a) 1 only
(b) 2only
(c) Both1and2
(d) Neither 1 nor 2
96. Consider the following pairs:

(Global places covered (Location)
in newspapers)
1. Blue Line — Egypt
2. Agalega Island — Mauritius
3. Death Valley — Jordan

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

Which among the following has been awarded the
Asia-Pacific Heritage Award of the United Nations
Educational, Scientific and Cultural Organization?
(a) Howrah Railway Station

97.

(b) Byculla Railway Station

(¢) Thane Railway Station

(d) Naharlagun Railway Station
98. Consider the following statements with reference
to UNESCO:

1. It encourages private sector participation in
the preservation of the cultural heritage of the
region for present and future benefits.

2. UNESCO is developing capacity building
programs by drawing inspiration from
outstanding projects in Bangkok.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2
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99. fava g o RU-2023 & ded # fr=fafaa | 99. Consider the following statements with reference
o W fa=ar i to the World Air Quality Report 2023:
1. =9 U =+t fag @M 1QAIr & g1 SR 1. This report was released by the Swiss
fomar T=m organization [QAur.
2. 39 RUR % 38R g1 fava &1 9a9 wgfa 2. According to this report, Patna has been the
T &9 W@ 2l most polluted metropolitan area in the world.
3. @ 136 Thfea aRd 19itaa PM 2.5 3. About 136 million Indians are living at
gt ¥ |d A Al wigd | S| aroA concentrations seven times higher than the
= E® 2 recommended PM2.5 concentration.
?Cl'éiﬂ?l 4 9 fray wYF T8 ©2 How many of the above statements are correct?
(a) Had Th OEESE (a) Only one (b) Only two
(c) &t 94 (d) HiE o T (c) All three (d) None
100. Frefafad T w fa=r Hif: 100. Consider the following pairs:
(TuTIT wE o (feerfar) (Indian places covered (Location)
oot § W@ O in newspapers)
T ) 1. Attukal Bhagavathy Temple — Kerala
1. STgehal weRt AT - &Y 2. Nalgonda — Telangana
2. Iermie - qEATE 3. Kulasekarapattinam — Tamil Nadu
3. FHoRHIET - qfHerTg 4. Sabroom —  Tripura
4. HIEH - g How many of the above pairs are correctly
STgF § @ fohad g wEl gafer 22 matched?
(a) HIA TH (b) e A (a) Only one (b) Only two
(c) Had = (d) |+t IR (c) Only three (d) All four

641, WIW WA, | 21, G AT, | 13/15, AI9RE A, e FoR-45 T 45-A T 47/CC, afefres 12, 39 T, T,
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(Magazine Test)
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